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58 FHEAGKE A K K # = 58 +LHEAHK B K Bk £ =
J—)IEF-LyF-EIDE d—J)LE-LyF-EVHDE
SH6E5H118
B £ K 2 ouT IN |TOTAL|HDCP| NET |- iv2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B HEB FEA 39 | 37 76 9 67 B FE —3h 46 | M 87 | 17 70
B IR &% 42 | 38 | 80 8 72 BB d)Il HEER 47 | 49 | 96 | 26 70
3 fu Wik = 44 | 39 | 83 11 72 3 fu IeE Ek 41 46 | 87 | 16 71
4 i I = 42 43 85 12 73 4 i Bl EF 44 | 45 | 89 17 72
5 {u HEEB= 39 40 79 5 74 5 {u *H B¥F 47 49 96 22 74
B-G B S 39 | 37 76 B-G IE EX 41 46 | 87
58 LHEAGKE A K K # = 58 +LHEAHK B K Bk # =
TI— - FKTAL FDER TI— K74 FDER
B £ K 2 ouT IN |TOTAL|HDCP| NET |- iv2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B E 36 | 40 | 76 4 72 Z B B BXE 45 | 41 86 | 17 69
#EB =H E& 37 | 42 79 7 72 BB EN w&E 45 | 42 | 87 | 15 72
3 fu HE — 38 | M 79 7 72 3 fu 7 Al 42 | 45 | 87 | 15 72
4 i WA & 39 46 85 12 73 4 i TR fE 51 43 | 94 | 22 72
5 {if 5T #5 41 43 84 10 74 5 {i BKEZ 45 | 46 | 91 18 73
B-G AR 36 40 76 B-G EH BEXE 45 | M 86
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